MAZ206 Suggested Problems
Student’s t-Distribution

The following graph is the PDF of a t-distribution with ¢ =35 degrees of freedorm,

a. Estimate the middle 95% of all the possible values of T and shade the arca under the curve for
these values in the picture above, This area will be equal to 0,95, Should the remaining arcas (o
the left and right of the shaded area be equal to each other? Why or why not?
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b. At what value docs the shaded region begin? At what value docs the shaded region end? Are
these values cqual {o each other in magnitude? Why or why not?
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e If we used 85% instead of 95%, aﬁswer both a and b above,
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d. Find the P(T =3.0) with = 35 dﬁzjrtm c;ﬂf {reecdomn .
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e, Find P (T =< -2.94)
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h. In your own words, describe the probability that you calculated i part g above. (Translate
the probability statement)
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